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2. A|9H o] QAMIAl &A=
o TIRIXIE BHE MES

— d7|x 23274 AH(32.8%)

ME 15870 AH(22.3%)

CHE 6570 AH9.2%)

S 4470 AH6.2%)

CH/E S 4270 AH(5.9%)

5 387HAHD5.4%)

QI /A = 3870 AH(5.3%)

A/ E4HEE 377HAHG.2%)
F/™S/™E 2874 AH4.0%)
2 2674 AH(3.7%)

H
=
.

-IC-)I-
z

29/x
7| = (23271 At/32.8%)

al
=

M=z

(15871 AH/22.3%)0| 39070 AtZ MAM S 55.1%

- MEOIUEE 2327HAH32.8%)2 A Y =testn, HIO| QA Z20F 15170 A}
(21.3%

- dEstd 3 dE3s2 Hxet £70lH, 0[0f d=3d H 77|, 4=4F,
SEINY MH|A 2 AFINEO &AM

— HIO| QO X & XY, MEFX= O|fst 5

o O HMIIHLs =EEH

— M =92k 2327 AH(32.8%)

— HIO| QA Z 15170 AH21.3%)

- M=t 9670 AH(13.6%)

— M =33t 9570 AH(13.4%)

- d=3F L 7|7 5474 AHT.6%)

- M4, EMY MH[A L AFLIHE 4274 AH5.9%)

W= A 1570 AH2.1%)

HFO| 20 L4 X| & XA 237§ AH(3.3%)



II. 2005 A= HIO|2AH | OI=4

(Sl @ )
< = 4 A A A stA 7l Et s A
Aol 1,181 3,576 1,925 748 7,430
2 ptol = 97 762 2,249 3,329 6,437
Al 1,278 4,338 4,174 4,077 13,867
¥ 1 gAE2 WESSFEE AL + AR (LSS TESA) HF
M OF 2 0 MAMOIE2S A 029 Hio|eMHUH EE MMA Y
= 3 7Bt HAUME & AEZE E

= 7,430% (53.6%)
— MAOIE 6 437X (46.4%)

o 2004& CHH| AR 822 (12.4%) S7t, ‘d&1= 907EH(16.4%) S7t

CHEY selz Hlo|RaeRE ol

1994 1 1995 | 1996 | 1997 | 1998 | 1999 | 2000 | 2001 | 2002 | 2003 | 2004 | 2005

1,367 | 1,541 | 1,647 | 1,889 | 1,982 | 2,696 | 3,371 | 4,445 | 5,082 | 5,808 | 6,608 | 7,430

117 | 1,354 | 1,380 | 1,411 | 1,372 | 1,715 | 1,815 | 2,662 | 3,625 | 5,205 | 5,630 | 6,437

= 0|41 re|[Hr 4

=

2,628 | 2,895 | 2,927 | 3,300 | 3,354 | 4,411 | 5,186 | 7,107 | 8,707 {11,013 | 12,138 | 13,867




Il. 2005H = &HA| HIO|QUHSFFE FAH|

1. 20059 % AFA A vlo] Q AFABE E}n]
(SH9l : W oke)

7 L = oy

i D - = = o 2,141,330

H O] @ A & 2 o 7 7| & b 474,635

H O] @ &Y & 2 Al 4 = X} H| 261,996

o 2005 E AR HEO| 241
AT LH| 4,74624F + A
ARTfut| 4,746%48 72
wol 22.2% T1EO|H, A4

o 2005 T HIO| 2L+ = 0f

7t

AN
g 4z

- g =

Am Ir px Ao

=
o

£ SX|= 7,36628 72
S x| 2,620

SEZIY 7087MAF & AAMEH 22 11,4139

AtHl= 2,6209 3 2

T A EH 7,366H A= 2004 CiH| 30.1%7t &

2004H 20 18.7% 7t AEFXHH|= 57.7% &7t

2. A MYA HIO[LUHF = FAH|
(EEIRCED
- = | 1996 | 1997 | 1998 | 1999 | 2000 | 2001 | 2002 | 2003 | 2004 | 2005
ol 7
T 1,252 1,263| 1,319| 1,616| 1,779 2,461 2,976| 3,419/ 4,000| 4,746
N A
517 600 557 137 916 1,020, 1,119} 1,330, 1,661| 2,620
= KpH|
A 1,769 | 1,863| 1,876 2,353| 2,695 3,481| 4,095| 4,749 5,661| 7,366
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V. 20054 xLj HIO[24H] =52

1. 200561 % =] wlol oAt SR Q.9

(B9l © e
- z 4 a
R & 2 A TS + B
2| s | 2|3 2 | HE|2Y |35
2,771,386 77.8 791,189 | 22.2 3,502,545 12,331,475 654 |1,231,070| 34.6

o 2005 =

=L HIO|MY & sar2e HHEMH| 156.2% 718t 3X 5,626%#
2 & W 2% 3,315 (HEHH] 19.1% S71),
Z 2,31 A (HAH 8.5% S7H)

T MA 22X 7, 7149 (M ACHH] 14.5% S71),
9122 A (MHACYH| 17.6% S71)

4> Ok 4> >
O o4 m fo
~ 1 . 4o



2. HEW 4£3UF
(EH9) © 42, %)
= 2 = 2
+ = A e = 2 A LY a4 a4 E
= Y9 (H S| 2 H|H 5 = A H = E (T HES

1993 1,521 67.5 731 32.5 2,252 1,683 74.7 569 25.3
1994 1,735] 69.7 753| 30.3 2,488 1,919| 77.1 569 22.9
1995 2,387 73.4 864| 26.6 3,251 2,516| 77.4 735 22.6
1996 4,681 81.7 1,052| 18.3 5,733| 3,285| 57.3 2,448 42.7
1997 5,879| 80.9 1,385/ 19.1 7,264 4,246, 58.5 3,018/ 41.5
1998 8,198/ 82.8 1,702] 17.2 9,900/ 5,085 51.4 4,815 48.6
1999 9,130/ 81.2 2,114| 18.8 | 11,244 6,701 59.6 4,543 40.4
2000 11,795/ 78.1 3,306 21.9 | 15,101| 9,000| 59.6 6,101| 40.4
2001 13,950, 76.9 4.196| 23.1 | 18,146/ 11,783| 64.9 6,363 35.1
2002 18,934 80.8 4,493| 19.2 | 23,427/ 14,232 60.8 9,195/ 39.2
2003 20,791 80.2 5,132| 19.8 | 25,923/ 15,985 61.7 9,938| 38.3
2004 24,199 78.2 6,730 21.8 | 30,929/ 19,584| 63.3 | 11,345 36.7
2005 27,714 77.8 7,912| 22.2 | 35,626|23,315| 65.4 |12,311| 34.6
A2 10E7t

HmT =12 27.8 24.8 27 .1 24.9 32.6
£/ 2 57z

omT =712 18.7 191 18.7 21.0 15.1




VI. 2005H1= HIO|2MAHMIZF JLHAIZ (LH=)

i
10
1=

a
[0

== _ T 2
T = _ A =
HS = L T ¢ A
1010 | & 4 A 77,902 13,147 91,049
1020 |& 2f H| 40,157 108,414 148,571
1030 |&H | 132,320 120,960 253,280
1040 | = 2 = H| 88,053 63,904 151,957
1050 |H A A H| 42,069 28,233 70,302
1060 | & oH A H| 165,231 26,037 191,268
=2t 1070 | XN ol A 46,718 12,691 59,409
1080 | & s 2l Xt 2,915 - 2,915
1090 |2 74 = N = A 17,138 - 17,138
1100 | & ot 7 E 45,759 102,395 148,154
1110 | S = of = 68,418 10,353 78,771
1000 |7 Ef & = 2o & A = 75,371 86,893 162,264
o A| 802,051 573,027 | 1,375,078
2010 |4 = 1 = N 14,888 168 15,056
2020 [t H 8 B & H A & F 5,173 15,050 20,223
2030 |+ - AEE =24 Y AUFR 29,613 34,261 63,874
=35t 2040 [HIO|2 3t&EE 4 Mesisth & 40,263 - 40,263
2050 |14 = = 2 ¥ H = 35,347 1,300 36,647
2000 (7| Et 4 =& = & H JF 24,463 850 25,313
A A| 149,747 51,629 201,376
3010 |A AR = 2 = 79,396 3,724 83,120
3020 |Of o T 4t 38,265 - 38,265
Hio| 2 3030 |4 = S 7t = 53,604 520 54124
N = 3040 |& k=1 Al = 11,957 - 11,957
B 3050 | At = P 7t H| 109,049 28,58 111,907
3000 |7 EF H O 2 4 F 4,784 650 5,434
o A| 297,055 7,752 304,807
4010 |&td A& old= A A 61,429 300 61,729
4020 |0|ME ¥t 2ax 3 AHH| 25,711 1,110 26,821
oy 4030 [ d==tEH A H OANLEH 35,635 - 35,635
4040 et 3 2 @ 5 & A & H 7,638 760 8,398
4000 |7|E} d==tdAME F AMHA 8,572 200 8,572
2 A| 138,985 2,370 141,355




== - T

T T s A B = u | & 9 A
5010 |D N A £l 4,085 670 4,755
5020 | & ey P £ 120 30 150
5030 | Al Xz & 740 - 740
R = FSPN 5040 |Ht o] i Ml N 5,527 - 5,527
5050 |H} o] e | A - - 0
5000 |7 &t M 2 ® X AN = - - 0
s A 10,472 700 11,172
6010 |24 = gt 2 7| 3,706 - 3,706
6020 | A < =277 & X ET| 2,898 - 2,898
H=35d 6030 | 28 & 3 L & A 7| 7 34,105 152,781 186,886
9 77 6040 2 = % = A A A| 1725 . 1725
6000 |7 E}f ¥ & 58 & L 7| 7] 1,480 - 1,480
s A 43,914 152,781 196,695
7010 | H} o] 2 A = 5,000 - 5,000
HEo| @ 7020 (o1 = ‘_70'5 o272 0= 559 - 559
of| Ly x| 7030 | & = ] = = 8,153 2,880 11,033
3 xtel 7040 | © X H & F I 531 - 531
= ME 17000 e atol @ of A W A 462 - 462
2 A 14,705 2,880 17,585
o010 =2 & E M dH =& 1,262 20 1,282
8020 | © At & &H 2 A M H & 28,541 - 28,541
H=Ad, 8030 |G+ & & 2 H F A A Hl & 1,080 - 1,080
HHEI 8040 |4 F+ I & M H & 5,613 - 5,613
AMH[ A 2 8050 | M=oY I Mez|ekd HItMH[A 16,596 - 16,596
o L7 et 8060 |~ &b gl H A M H A 27,101 - 27,101
8000 |7|Et M=4d, HEI/INLMHEA 3,194 - 3,194
s A 83,387 20 83,407
= A 1,540,316 791,159 | 2,331,475




2006 = HIO|2MAN & = AZHZ= 2% 3,3169%8 2
— A E 1x 5,403H & (66.1%)
- SUME 7,91249 A (33.9%)

2005 = HIO| MM F S AE2Zes MEAx thH] 3,731 (19.1%) S7t
— 20043 1= 9,5844 &
— 20054 2= 3,3159 &

2005 =W AFEAE 2x 3,3159%9 FofE FdHl= d=99F
59.0% %2 %1 HIF

— =22 1= 3,751H9&(59.0%)

— HIO|2AF 3,048H&A(13.1%)

— AH

Of

THH

=l
- 38 % 7171 1,967 (8.4%)
2 1,413HE (6.1%)

Ad, JEMNEMH L & AL 8347 (3.6%)
— HIO| 20X & R+ 176297 (0.7%)

- SR 112492 (0.5%)

20068 =mMA & EOHY 1= 5,403 H S HdH|
— =219 8,020 & (52.1%)
— HIOI2AFE 2,971 & (19.3%)

— Al

= =

M2 315 1,4079121(9.7%)
~ M2 1,30022(9.0%)
- MBAY, YEHUMHA L AL 83421 (5.4%)
- M23H U 17| 43029 (2.9%)

— HIO| 20X H A& 147 (0.9%)
— AESTX 105H9 & (0.7%)

_10_



Vil. 20059 MSMAME MM
CHo| : Dl
= _ MAT 2

T T | us 4 = 4 | ~ = A
1010 | & e A 77,902 65,301 143,203
1020 | & 2 Al 40,157 26,050 66,207
1030 |uH | 132,320 79,665 211,985
1040 | = =] = Al 88,053 71,485 159,538
1050 |™H o A A 42,069 11,153 53,222
1060 | & o4 Al Al 165,231 20,019 185,250
=0l ek 1070 | A off A 46,718 1,501 48,219
1080 |8 &t ol N 2,915 500 3,415
1090 | 7 = N = A 17,138 2,300 19,438
1100 | & s 7| E 45,759 18,782 64,541
1110 | = = ot = 68,418 10,356 78,774
1000 (7] Ef M =2 2o <& XM = 75,371 5,900 81,271
2 A 802,051 313,012 | 1,115,063
2010 (M = i = At 14,888 9,626 24 514
2020 (M4 ¥ B & A T AN ¥ F 5,173 433 5,606
2030 [ - A™EE F4 U ANSFR 29,613 14,642 44 255
o =3st 2040 [HIO|2 3I&EE 2 Mty & 40,263 2,564 42,827
2060 1 & =& <« @ H = 35,347 250 35,597
2000 |7| Bt M = s & AN = 24,463 7,337 31,800
o A 149,747 34,852 184,599
3010 | A4 z 7| s A = 79,396 5,014 84,410
3020 |Of ]l o A 38,265 574,994 613,259
Hio| 2 3030 | & = rS 7t = 53,604 264,176 317,780
N o= 3040 | k=1 Al = 11,957 2,115 14,072
- 3050 |Af = FS 7t A 109,049 1,905 110,954
3000 |7| E}f H O 2 A F 4,784 - 4,784
2 A 297,055 848,204 | 1,145,259
4010 |2t48 Mgl 8 nld= HAA 61,429 4.658 66,087
4020 (MM = 1d8s A 2 AH| 25,711 - 25,711
N2 5 4030 |4 =2 = 4 A A 2 Al AHE 35,635 345 35,980
4040 |2t 3 2 & F d Al & H 7,638 330 7,968
4000 |7|Et M= EMHE L MH[A 8,572 55 8,627
2 A 138,985 5,388 144,373

_11_




== - YT

T T s A B = u | & = A
5010 |D N A £l 4,085 380 4,465
5020 | & ey P £ 120 - 120
5030 | Al Xz & 740 6,162 6,902
R = FSPN 5040 |Ht o] i Ml S| 5,527 1,967 7,494
5050 |H} o] e | A - - 0
5000 |7 &t M 2 ® X AN = - - 0
s A 10,472 8,509 18,981
6010 |24 = gt =1 7| 3,706 2,245 5,951
6020 | A < =277 & X ET| 2,898 2,703 5,601
H=35d 6030 | 2 & 8 L & A I 7 34,105 7,522 41,627
9 77 6040 2 = % = & A A| 1,725 . 1725
6000 |7 E} ¥ & 58 @ % 7| 7] 1,480 70 1,550
s A 43,914 12,540 56,454
7010 | H} o] 2 A = 5,000 - 5,000
HEo| @ 7020 (o1 = ‘_70'5 o272 0= 559 - 559
of| Ly x| 7030 | & = ] = = 8,153 756 8,909
3 xtel 7040 | © X H & F I 531 - 531
= ME 17000 e atol @ of A W A 462 - 462
2 A 14,705 756 15,461
o010 =2 & E M dH =& 1,262 100 1,362
8020 | © At & &H 2 A M H & 28,541 4,582 33,123
H=Ad, 8030 |G & & 2 &H F A A H & 1,080 20 1,100
HHEI 8040 |4 F+ I & M H & 5,613 1,787 7,400
M|~ 4 8050 | M=oY I Mez|ekd HItMH[A 16,596 1,320 17,916
o LUK et 8060 |~ &b gl H A M H A 27,101 - 27,101
8000 |7|Et M=4d, HEI/INLMHEA 3,194 - 3,194
s A 83,387 7,809 91,196
= A 1,540,316 | 1,231,070 | 2,771,386

_12_




2006 = HIO|2MHME9 HMAEZE 22 7,7149H HZ20[H,

3,616 (14.5%) 57t

2004 2z 41999 &
20054 2=z 7, 7149 &

LAl FOE FJH[= HIO|2A4FO0| 41.3% = 21 HIS

HIO|QAIZ 17X 1,452 2 (41.3%)

MZooF 1 1 151U (40.2%)

ME315H 1,846 (6.7%)

MESHA 14449 (5.2%)

MEAYE, E/Y MelAa 2 A7 91229 (3.3%)
MESTE L J|7] 56442 (2.0%)

MEFX 19042 (0.7%)

HFO| 20 4 X & RHE 15597 (0.6%)

2005HE &Y 12 231192 F4H|

HIO| 2 A& 8,482/ (68.9%)
=22k 3,130 & (25.4%)

ME315F 3492 (2.8%)

ME=3E L J17] 1259 (1.0%)

MEF X 85 (0.7%)

MEAY, JENUMHA T ARTHL 789 (0.6%)
MEEE 54A42(0.5%)

HiOl 20 L x| & Xt 8HRA(0.1%)
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